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1. (10%) Please solve Ax=b, where A =2
3

2. (15%) Use the Laplace transform to solve the following initial value problem.
y'(x)-y'(x)-2y(x)=0,

»(0) =1, y(0)=0.

3. (15%) Please solve the following initial value problem.
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0, -2<x<-]
4. Let f(x)=41, -l<x<l and f(x+4)= f(x) forallreal x.
0, l<x<?2

() (10%) Flnd the Fourier series representation of f(x).

n+}
(b) (10%) Use (a) to find the sum of the series Z (=D
rol Zn l

5. (10%) Suppose x(f) = L M < 2, and the Fourier transform of x(f) is definedas X (o). Please'
0, otherwise

find X(j7).
6. (15%) Please solve the following initial value problem.
’y"-3x*y"+6xy' -6y =0,
y)r=2, y0)=1, y')=

| 1 -1
7. (15%) Let A=[_1 |

], please compute e




